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General Instructions :

(i) The question paper comprises wfo sections, A and B. You are to
attempt both the sections.

()  The candidates are advised to attempt all the questions of Section A
separately and Section B separately.

(i)  All questions are compulsory

(iv)  There is no overall choice. However, internal choice has been provided
in some guestions. You are to attempt only one option in such questions.

(v)  Marks allocated to every question are indicated against it.

(vi) Question numberg-5 in Section A an®1-23in Section B are very
short answer questions. These are to be answeredenwvordor one
sentence.

(vii) Question number§-10in Section A an@4-25in Section B are short
answer questions. These are to be answere20i40 words each.



(vii) Question number§l-17in Section A an@6-29in Section B are also
short answer questions. These are to be answeréd-50words each.

(iX) Question numberd8-20 in Section A and0 in Section B are long
answer questions. These are to be answeretDiwords each.
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SECTION - A
e - A

Why is much less heat generated in long electric than in filaments of
electric bulbs ?

T FROT & 6 g ae® afi § 987 ®W A9 IOF BT § 9 Jgd 9

% a9 § 9= AU A BT © 7

Where will the image be formed by a concave mirror when an object is placed
between the ple and the focus point of the mirror ?

TF STAAA U H g AR BRT g b 9 @ R awg @1 uidfer wel aeme

Write the chemical equation for the reaction of hot aluminium with steam.
a9 UGMAHET &l 99 q ftufshar & ford wamafe awieor faiad |



4. Name a metal which offers higher resistance to the passage of electricity than
copper. 1

U UHT a1 H 99 fafae S R or yae | did | sifues gfaiy gee el 8l

5. Give an example of photochemical reactions.
TRIT-TEAEh  SATURRATl HT Th Il faiay |

6. What is the cause of release of unusually large energies in unclear fission
reactions ? How is the energy per fission calculated ?
Or
What is a thermal neutron ? Draw a schematic diagram depicting fission of a
U-235 necleus on absorption of a thermal neutron.
e fa@eT gihatell § STATURYT €9 & AfEh SHof & [OHT &1 BRI FT Bl
T 7 ot fordeT o Tt @1 aRea &9 fRar Smar ® 2
g
i =2iA fhd @ed § 2 aTdE <gie aueT g aRteaa U-235 Tifves & fages

F Th = g REEn)

7. With respect to air the refractive index of kerosene is 1.44 and that for diamond
Is 2.42. Calculate the refractive index of diamond with respect kerosene.
Y B JAN H BAAM P SIS 1.44 & TAT B BT AGATAD 2.42 & | BUHS &
e TR & AUAcID BN TREBAT I |

8. Draw diagrams to distinguish between ‘equatorial orbit' and 'polar orbit' of
artificial satellites of earth. 2
gl &% PHEH IWE B TIYEdT Her SR gT HET B UG WL B b a0
YR T HETAl & NG Y& Iy |

9.  What justifies sulphuric acid being called the "king of chemicals' ? Why does
sugar turn black in contact with concentrated sulphuric acid ?
TR ST I TR T T HF Fed & 7 Qs GoRieh I & g% o 3
T T Al FT B A & 2

10. How is plaster of Paris chemically different from gypsum ? How may they be
interconverted ? Write one use of plaster of Paris.
TR S URE fream § 1 Tt S W@ & ? v UH-gX H el 9gal off
ThdT & ? WX i IR &1 P2 U I i |
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12.

13.

14.

Describe briefly the Big Bang Theory of the origin of universe.
fI9q &1 T | gREad geq G RIS Bl §ET H aUH i |

Name three form in which energy from oceans is made available for use. What
are OTEC power plants ? How do they operate ?

ol & A9 ' & A fafee S qemrrRl § Suasy &1 OTEC gis g9 /1 € 2
T T 9N & & T 2

Atorch bulb is rated 5.0 V and 500 mA. Calculate (i) its power, (ii) resistance
and (iii) energy consumed when it is lighted for four hours.

I B TH g W 5.0 V 3 500 MA sifra 21 T &1 (i) afe (i) 53w gfae

AR (i) TTH 4 T T W I Holl BN UREBAT BT |

(a) Write the chemical equation representing the reaction for the preparation
of methanal from methanol.

(b) What happens when methanal is mixed with :
() Ammoniacal silver nitrate solution and the mixture is warmed.
(i) Fehling's reagent and the mixture is warmed.

(c) Complete the reaction equation :

H

I
H—C=0 + HCN - 3

Or

Write the formulae for the given compounds and name the functional groups
present in each of them :

() Ethanoic acid (i) Propanone (i)  Nitromethane
(37) AYATT A HITA U H Bl qAAE SAABRAT 1 FqHieReor fafau |
(F) T @ AR AT HIAT Rl
(i) cmifara R T faaes & ot e W= fFar s 2
(ii) ®fcT eifepds & T e ™ & 2
(@) FrfaRaa sifishar @ieer ®f @ Fivg -

H

|
H—C=0 + HCN -
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(i) Distinguish between an addition polymer and a condensation polymer.

(i) Choose one condensation polymer and one addition polymer from amongst
the following :

nylon, teflon, neoprene, polyester

(iif) Write a chemical equation for the reaction involved in the formation of a
polyamide. 3

() HbeM 98d% UG Goa dgah § WS Uehe iU |
(i) Fr=fafad § & o qaT 9ges SR Uh Heberd 9geh bl gd
(iii) wiftromse & fmor & Geafea Taate stk fofeo)

(@) Why ZnO called an amphoteric oxide ? Name another amphoteric oxide.
(b) What are alkalies ? Give one example of alkalies.

(31) ZNnO &I IHALHT SfieFTEE T Fed & 2 UH o UH & SAfeares &1 W faag |
(@) &R 7 Bl & ? & & U &m0 iy |

(a) State the relation between hydrogen ion concentration of an aqueous
solution and its pH.

(b) The pH of an agueous solution decreases from 3 to 2. Calculate how many
times the hydrogen ion concentration of the solution will change.

(37) fopelt ot faeras & ersgo Sael &1 Arsan e fowas & pH a9 & & &
Ty 3 fofan |

(@) uH faaa" ot pH 39 2 & At & | 9Rebad wifog o SaH SEgiee A=l &l
resdl {1 daee e |

(a) Draw a schematic labelled diagram of a domestic wiring circuit which
includes (i) a mains fues (ii) a power meter, (iii) one light point, and
(iv) a power plug.



19.

20.

(b) Why is it necessary to connect an earth wire to electric appliances having
metallic covers ?

(31) UH W FT aRUT FT AEIfRT FEEETE oM@ @ity fed (i) WA
w, (i) T R Hiew, (i) U gy @mEe o (iv) U e Wi @ e
T B |

(@) efae Eel ard JEd SUR Bl THIH! AR A ST i AEIE el © 7

(a) Explain the following terms used in relation to defects in vision and
corrections provided for them—
() Myopia (i) Astigmatism (iii) Bifocal lenses (iv) Far sightedness.
(b) Describe with a ray diagram how a person with myopia can be helped by
spectacles.

Or
(@) What is a 'simple microscope' ? Draw diagrams to show the image formed
by a simple microscope with the eye focussed—
(i) on near point (i) at infinity.
(b) What is the maximum magnification obtainable by a simple microscope ?
(1) sfte It iR S9s siem gva=elt ygeh ffafaa wet @ amer il
(i) #mafer (i) GRewfesw (i) fawmeeer @g (v) gfedr
(@) foreor s @l gewEar ¥ femen f amEfar v & @ifsa e @ T e 37 &
TEFAT &l S ehell & |
Hqq
(31) U TR Geweslt @Ar B & 2 em@l g @ % 99 sitg [
(i) M feg w (i) s W
HIGET Il & a8 gereslt R ufafes &9 aear € |
(@) U A gees sRT fhae Siferehas Saes g & §ehal §

(a) Write chemical equations for the reactions involved in obtaining pure
alumina from the mineral bauxite which has impurities of iron oxide and
silica.

(b) Draw a labelled diagram of the electrolytic tank cell used for the extraction
of aluminium from alumina.

Or

(@) What is corrosion of metals ? Name one metal which does not corrode
and one which corrodes on being kept in atmosphere.

(b) How will you show that the rusting of iron needs oxygen and moisture at
the same time.
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SECTION - B
W ig — §
What is 'Green House Effect' ? 1

QEITER. THT T BT & 2

Name the type of chromosome in which one arm is very long and the other is
Very short. 1

SH OSBRI AW & T U 4o 9gq @t Ud g@d 98d Bier e § ?

Write the expanded form of the abbreviation AIDS. 1
d&aq AIDS & &am ax faRaw)

List any four practices which help in protecting our environment. 2
Or

Describe any four modes of disposal of waste.

Y IR SR &l Al S0 S qafaRer |3 § §eEd e ¢ |
Sreran

g & Ue @l fhl ar el @ aoi S |

What are 'fabric filters' ? Describe their function in controlling pollution of air. 2
Fet Eied e ®ad © 2 g & UGN & AT H b B Hl W B |

What is 'organic evolution' ? How do embryological studies provide evidence
for evolution ? 3

S faemE /T BT & 2 YOy STea e YR At @ UHIOT URd A §



27.

28.

29.

30.

Differentiate between 'self pollination' and 'cross pollination’. Describe 'double
fertilisation' in plants. 3
TF-IEOY TG GE-OROT H ST T Hhiterd | Urell @ Sl Muesr fafer @ aoe

I |

Draw a diagram of human brain and label on it the following of its parts :
(i) Cerebrum (i) Meninges (iii) Medulla Oblongata (iv) Cerebellum

g AR B Uh ARG Wi w36 (g qides & 9T AEiied S
(i) wafass (i) wRaepERer (i) #Agar sffemider (iv)  STARTEh
What is 'translocation’ ? Why is it essential for plants ? Where in plants are
the following synthesized : 3
(i) Sugars (i) Hormones

Or

What is 'clotting of blood' ? Write a flow chart showing major events taking
place in clotting of bood.

TIFFRET 7 BT & 2 A€ Wel & e i smagas € o e § fefated &
Tl el Bl &
(i) s=u (i) FEE

AT
R BT TEAT HT FT @A & ? R b S H G WO U YA® AR G
fe@reT |
List three differences between respiration in plants and respiration in animals.

Describe with a labelled diagram how gaseous exchange occurs through root
hair in plants. 5

aref et  9aaT BRaTeT & O o fafey | U At e @ Heraar 9
o i fb qrel & @ I g Wt R ger gar 2



